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GENERAL INSTRUCTION TO THE EXAMINEES:
1. el gduerd U9 Y U W AHih Sifvaria: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 941 ge e erfvard 7|

All the questions are compulasory.
3. U U BT IR &l g IR JRAdT 7 &1 ford |
Write the answer to each question in the given answer book only.
4. RF Ul H TaIR® @re 8 I F91 & IR U A1 B ford |
For questions having more than one part the answers to those parts are to be written

together in continuity.

5. U9 U & 3l WR ISl HURRY # fdl R @ Ffe/ R /RN 8 W fR=d wmr &
U3 DI Tl 7 |

If there is any error/difference/contradiction in Hindi & English version of the question
paper, the question of the Hindi version should be treated valid.
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Write the correct answer from multiple choice question 1 ( 1 to ix) and write in given answer book.

(i) TUdh empty series object I B forg ST B Fhd © 2 1
(81) Pd.series(empty) (@) Pd.series(np.NaN)
(W) Pd.series() (g) all of these

To create an empty series object you can use :

(a) Pd.series(empty) (b) Pd.series(np.NaN)

(c) Pd.series() (d) all of these

(ii) U series object$ STATHT BT AT UTd B & %I'Q .................... attribute TSR BT 21 1
(a1) index (@) Size

(@) ilensize (8) ndim

To get the number of dimensions a series object ...........ccccuveeenes attribute is displayed.

(a) index (b) Size

(c) ilensize (d) ndim

(ii)) Data Frame ... HARM ® ddad S FHTd WX JRIG BT ITINT AT S FhaT 7 |
(a1) iterate( ) (9) iterrows

(@) itercals() (g) itesiterms

iterate over vertical subject of a data frame ................ function may be used.

(a) iterate() (b) iterrows

(c) itercals () (d) itesiterms

(V) 9T H NaN A Bl BIed & o7 3T oo femar fAfds &1 Jaa 21 1
(1) NaN (@) NA

(W) skipna (2) all of these

To skip NaN value in a calculation you can specify.................. attribute.

(a) NaN (b) NA

(c) skipna (d) all of these

(v) f=ferRaa # & @9 Ud Text Function T8l & ? 1
(31) TRIM( ) (c) TRUNCATE( )

(&) MID( ) (%) LEFT()



Which of the following not a text function ?

(a) TRIM() (b) TRUNCATE( )
(c) MID() (d) LEFT()

(V1) %1 Query ®T output BT ?

SELECT LENGTH("INDIA ")

(e1) 6 (|9) 5

(|) 7 (<) 8

What will be printed by the given query ?

SELECT LENGTH("INDIA ")

(A) 6 (B)5

(c)7 (d) 8

(vii) fe®iee U | ORDER BY clause GRUIH &I ... %9 W gAldg dal g | ?

(1) Ascending

(&) Any

By default ORDER BY clause lists the result's in

(a) Ascending

(C) Any

(9) Descending

(g) Same

(b) Descending

(D) Same

(viii)  dfaaal @T T A B feTg sQL query H =T SQL function BT TART & |

(31) COUNT()

() Count (*)

(d) Number()

(<) SuM()

Which SQL function in used to count the number of rows in a SQL query ?

(A) COUNT()

(C) Count (*)

(ix) web site GUT g —

(31) HTML document

(@) audio and video files

A web-site in a collection of .
(A) HTML document

(c) audio and video files

(B) Number( )

(D) SUM()

(9) Graphic files

(g) all the above

(B) Graphic files

(d) all the above
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() BRI AHTH SIETd AF el & 1
The e, function return the maximum repeating value.
(ii) Substr() & TATAT fHdT =T RET &1 FIRST U HRA B I, o BIIE BT

fl SuanT B e 2 1
To get a substing of a string other than substr( ), function ............ is also usecl.
(iii) PFITT o # fAffdsaL v A= e hicH § 999 Bl J19 UT $Ral © | 1
The SQL built in function ................. obtains the smallest value in a numeric column .
(iv) web site TR web page BT oo EﬁW@ﬁ@WﬁWﬂTﬁ@@gﬁ’%l 1

Web page on a site are linked together through a system of .............
yeq 3 1 ueHl @& SR U@ ufaa § R 1x8 =8

Give the answer of the following question in one line 3 (i to viii)

(i) Panda Library T IT Hgcd g7 1
What is the significance of Panda Library.

(i) Data frame ¥ row delete BT HT HAF fIRIU | 1
Write statement (s) to delete a row from a Data frame.

(iii) Data frame H column WWW@WWWWWWW ? 1
Which function would you use to RENAME the column name in a Data frame .

(iv) T Sum () 3R add () BT FHE & ? 1

Are sum () and add () functions the same ?
(v) Quartile T & ? 1
What is Quartile ?

(vi) missing data IT © ? 1
What is missing data ?

(vii)ﬁ":f code DT output dIT BT ? 1
my SQL > SELECT CONCAT( CONCAT(' Inform’, 'atics' ), ' Practices');

What will be the output of following code.

my SQL > SELECT CONCAT( CONCAT(' Inform','atics' ), ' Practices');

(viii) GROUP BY clause T &IT SUIANT & ? 1
What is the use of GROUP BY clause ?

(@vs 9)
THORIHD Y (STR e AT N 50 ¥eq) 1.5x12 =18

4.ﬁlﬁﬁ?ﬁ@codeﬁ§%§lﬁfﬁ? 15
S2 = pd.series ([ 101,102,102,104])



print (S2.index)

S2.index=[0,1,2,3,4,5]

S2 [5] =220

print (S2)

Find the error in following code fragment

S2 = pd.series ([ 101,102,102,104])

print (S2.index)

S2 .index =[0,1,2,3,4,5]

S2 [5] =220

print (S2)

5. =T P @1 ®E I8 B ?

df.drop ([ "Total", " Order"] axis = 1)

What is following statement deliver

df.drop ([ "Total", " Order"] axis =1)

6. DataFreme, Series & ©O Fdfd & ?

How are DataFrame related to Series ?

7. Pivot() 3R Pivot_table() & HeJ <R HHSISY |
Explain the difference between pivot( ) and pivot _ table( ) function ?

8. Data aggregation &I Ie9T ford |

Write the purpose in data aggregation.

9. merge() 3R join() BT DI IRAT B |

Explain merge () and join( ) function
10. Today, the date is < current date> Uei¥d & & fousqL weF foRau |
Write SQL statement to display today, the date is < current date >
11. 99 code @1 output T BT ?
my SQL > SELECT UCASE( Computer studies)
What will be the output of following code?
my SQL > SELECT UCASE(' Computer studies')

12. Sum, Average, Highest salary of the employes, yefdfd &1 & forw query fRau |

Write query to display the Sum, Average, highest salary of the employes.
13. 999 R a1l HHAIRAT BT GRT Ueffd o+ & foTv U query ford |
Write a query to display the number of employes with same Job.

14. SHA A BT IRTAT R GeT H fewolt ford |

Discuss the structure of an email message in brief.

15. Web server T gﬁ?ﬂ %\r ?

What is a web server ?
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16. VoIP UTeTdhidl & o /BT foIfaw | 3
List some advantage/disadvantages of ( Voice over in Internet protocal )
17. Table ( Product) 3
Pcode Pname Uprice Manufacturer
PO1 Washing powder 120 Surf
P02 Tooth paste 54 Colgate
P03 Soup 25 Lux
P04 Tooth paste 65 Pepsodent
PO5 Soup 38 Dove
P06 Shampoo 245 Dove
1 & forusal Query forlRay |

i. Product ¥ @1 TIfTRT H B A9 &I AT DI SilS |
ii. Dove gRT AT T ScuTg & fow g # 12% 1 gl |
iii. 9P AT §IRT IUTGT BT el HAT TSR o |

Table ( Product)

Pcode Pname Uprice Manufacturer
PO1 Washing powder 120 Surf
P02 Tooth paste 54 Colgate
P03 Soup 25 Lux
P04 Tooth paste 65 Pepsodent
PO5 Soup 38 Dove
P06 Shampoo 245 Dove

Write SQL queries for following

i. Add a new column discount to the table product.

ii. Increase the price by 12 per cent for all the products manufactures by Dove.
iii. Display the total number of products manufactured by each manufactures.

18. Table ( Product ) 3
No Name Stiperd stream AvgMark Grade Class
1 Arvind 400 medical 78.5 B 12B
2 Gurpreet 450 commerce 89.2 A 11C
3 Deepa 300 commerce 68.6 C 12C
4 Ravindra 250 Humanities 64.4 C 11A
5 Rubira 450 non medical 88.5 A 12A
6 Vikram 500 non medical 92.0 A 12A
7 Manoj 380 commerce 67.5 C 12C

o forg sQL B &1 output foTRay |

i. SELECT TRUNCATE(Avgmark) FROM student, WHERE Avgmark <75,
ii. SELECT ROUND(Avgmark) FROM student WHERE grade = 'B'
iii. SELECT CONCAT(Name, Stream) FROM student, WHERE class = '12A',

Table ( Product )



No Name Stiperd stream AvgMark Grade Class
1 Arvind 400 medical 78.5 B 12B
2 Gurpreet 450 commerce 89.2 A 11C
3 Deepa 300 commerce 68.6 C 12C
4 Ravindra 250 Humanities 64.4 C 11A
5 Rubira 450 non medical 88.5 A 12A
6 Vikram 500 non medical 92.0 A 12A
7 Manoj 380 commerce 67.5 C 12C

Give Itl output of following SQL Statement.

i. SELECT TRUNCATE(Avgmark) FROM student, WHERE Avgmark <75,

ii. SELECT ROUND(Avgmark) FROM student WHERE grade = 'B'

iii. SELECT CONCAT(Name, Stream) FROM student, WHERE class = '12A",

(@rs 7)
<Y SN U/ feRreTd e (SR IS8 T I 250 9SS )
19. Data Analysis ¥ 3TFHIT U HEE'CIQ'UT SR FiT § 7 4

Why estimation is an important concept in Data Analysis ?

OR

I T SeT e B IR R AEfaRad us & fATT Python w foRauy |

Name Degree Score

0 Aparna MBA 90.0
1 pankag BCA Nan
2 Ram M. Tech 80.0
3 Ramesh MBA 98.0
4 Naveen MCA 97.0
5 Krrish BCA 78.0
6 Bhawna MBA 89.0

(31) TP Stream # ST IR frHad 3fw fiic w1 & forg |

() Index to Name WR T &R & fo17 |

() ud BE & A9 AR IR i 3ie wefdia o= & v |
(&) MBA BT @ AT e @ forg |

Write the Python statement for the following question on the basis of given data set :

Name Degree Score
0 Aparna MBA 90.0
1 pankag BCA Nan

2 Ram M. Tech 80.0




5

6

Ramesh

Naveen

Krrish

Bhawna

MBA

MCA

BCA

MBA

98.0

97.0

78.0

89.0

(a) To print the degree and maximum marks in each stream.

(b) To set the index to Name.

(c) To display the Name and Degree wise Average marks of each student.

(d) To count the number by student in MBA.

20. Network Topology MY RIT FHSA & 7 I AR Topology HIT g7

What do you mean by Network Topology? What are the most popular topologies?

OR

Hub, Switch and Router ¥ 3R foTRaU |

What is the difference between Hub, Switch and Router?



